
  
 

 

   

 

 

 

 

 

  

Year 4 Autumn 2 

KIRF: I know all number bonds to 1000- any 

number. 
 

 

 

Key Instant Recall Facts 

Key Vocabulary: 

• 250 add 750 equals 1000  

• 550 plus 450 is the same 

as 1000 

•  1000 take away 60 

equals 940  

• 1000 subtract 370 makes 

630 

• The difference between 

910 and 1000 is 90 

 

 

 

By the end of this half term, children should know the 

following facts. The aim is for them to recall these facts 

instantly 

The children should know number bonds to 1000. Some 

of these many include: 

 

600 + 400 = 1000  370 + 630 = 1000 

400 + 600 = 1000  630 + 370 = 1000 

1000 – 400 = 600  1000 – 630 = 370 

1000 – 600 = 400  1000 – 370 = 630 

 

750 + 250 = 1000  480 + 520 = 1000 

250 + 750 = 1000  520 + 480 = 1000 

1000- 250 = 750  1000 – 480 = 520 

1000 – 750 = 250  1000 – 520 = 480 

Questions to ask at home 

 

What do we need to add to 

700 to make 1000?  

 

If I have 360, how many more 

do I need to get to 1000?  

 

What is the difference 

between 1000 and 740? 

What does this KIRF look like at Cranford School? 

 

     Concrete         Pictorial          Abstract 

490 + _____ = 1000 

 

1000 - _____ = 720 


